74400 X
5000 5000 8100 8100 5000 5000 6000 L, S0 4000 8300
0,200 0.200
~ %
71 | ——
2 T
@ , [ %] [ @
o]/
I
2 H
° I " 0200
i H T | VS
I
| |
5 —
B D]
® g I* ************************ Fj* e B + *************** + g ®
£0.000 £0.000
IR IR ‘i =
FEANEUNT 30N HERABMF30A o =
~ ia = -
3 : 2 = g
B : : a0
7777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777777 a
w2 S ”1 g | 11.800
- - = 11.400 ,i ‘ ﬂ_ 11,400
0,200 0,200
0,200 0 o Ve - T o
1050L 3000 Leooi 3000 L1050 60@ 3000 Lgooi 3000 ﬁoo L 3000 Lgool 3000 &oo 1400 L 3000 Leooi 3000 L7001050L 3000 Leool 3000 Lwo5o g g
9000 3000 8100 8100 5000 9000 6000 ‘ 000 40 4000 5600 3300
\ 7500 7500
74400 7] !
@ ® ® @ ® ® @ |_ ) @ . -
—ETHE 1150 1 - h
ARRSER: 1091.53m? (T4 5) 74.67m? D 157m?* Uisfsbtesh) %
) ® ® @ ® ® @ ) Y
74400
9000 9000 8100 8100 9000 9000 6000 000 30 4000 8900 2000 RE=
o0 & & Sow
4,100 4100 4,100 9500 8000
© [ u l - w 3 ©
" ‘ ‘ ‘ : ‘ ‘ '
SEEs uE 1-18EA 1100
== = ] s
LT o &
| |
| |
g #in é i 5600
A o
® — | , —; n L B n , — i — | ®

17500
jon
A
L
\J
jan
\
17500

- alg 7500 7.500 } alg =
2 @] E1LFE) G [l Z12
d Eﬁ@ I USEIN G USEUN (o] j d
A1 é:;;“ ! ! ! \ ! ! ;;:3 51
\\\\\ r//// =]
\ / 3.900 g
3 / Y
= g\ JR
\ i
\ i
@) || \ r | | T | 1 : @
—EYERE 1150
ABERER: 1091.53m?
9000 9000 8100 8100 9000 9000 6000 00 30 4000 8900
74400

11.400

, 400

3900

7.500

12000

7500

i « 048

FIER 1100

@
@




